SECTION 2 | Test 1

Schofield & Sims

Mental Arithmetic 1 Answers

SECTION 2 | Test 2

Ot 0x10= O ¢

20 15 +5= e 3

3 18+8= 2%

4 3-7= 16

5 A 20p, a10p and four 2ps =
6 7p0+5p+8p=

7 €20-€7= €13

33p

_20p .

e 113
'8 S +3+5 4= 2

1. What number is 8 less i
than 1007 92

2 Find the total of 27p, 12p
and 10p.

_A4%p

3+ How many tens in 90? .-

4 Write < or > to make the
statement true.

98 = 102 <

5 Howmany cmin15em? . 30

6 Find the difference between

9 and 27, 18

7 Add the even numbers.

113 21 8 19 16 | | 24§1n

8 Bx10)+ =36 &

9 What number is 7 more

than 457 B2

0 Write the two missing
numbers in this sequence,

0,369, 7,15 ¢ 12 18

Find the total value of
these coins.

When 17 is taken from a
number the answer is 13.
What is the number? 30

One-qguarter of the Iengt|1’1
of a window measures 83 cm.
Find the total length of

the window. 34w

In a class of 32 children 19
were boys. How many
were girls? R,

How many
minutes from
the time on
the clock to

half pastsix? . 25min

Five friends win two prizes

of 20p which they share

equaily. How much do they - -

each receive? ... 8p

What number is the arrow
pointing to? .20

Which of these numbers is
nearest to 407

(34 2 2 37 4] ' &

Which is the cheaper, A or B,
and by how much? B by 9

=1
B
grapes
19p

b Ay
{ crisps )
v 28p

3+3+3+34+3+3

10

C O9p+dp+Tp=

4x3= 120
30-12 = | 18

24 =1 quarters 8

3)15 - T

How many days in March? S 1 |
20p —14p = ....Bp
Five 5ps + three 2ps = 31p

(0x3)+7= R

Write the two missing numbers
in this sequence.

30,27, 0, ,18,15 2a 2

Increase 23p by 8p.

How many days in June and ;
July altogether? . BT

7 times 3 21

How much change from a

50p after spending 32p? | _18p .

How many threes in 277 o 9"

Add the odd numbers.
19 12 20 5 8| a4

By how many is 24 greater
than 177 B 7

(8 x 3) minus 10 14

How many quarters in 157 e B

19

3p 7

10

- Add 3 of 1010 3 of 8, o 11

6 Name the month that comes

b Jack's weight is 35

What is the cost of nine pencils

at 5p each? A5p

Write the missing number.

6x4=" x3 I -

Which three coins together

make a total of 62p? 50p 10p 2p

The he1ights of two cousins
are 893 cm and 94cm.
By how many centimetres

1
is one taller than the other? 47 cm

a before August aluly

b after March. b April

Samina spends 7p, which is
one-guarter of her money.

How much had she at first? 28p

Divide 30 by 3and thenadd 9. 19

Oscar gave six stickers to each
of five friends. He had four left.
How many had he at first? 34

Choose the correct unit of
measurement to complete
each statement.

centimetre
metre

kilogram

litre gram

a The length of Megan’s
classroom is 10 metres.
_kilograms.

¢ Ajugholds1  litre of water.




